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m 2022 A= EUHO|LQAEX|ME NY-HS0fi ZEHEZAQhH

(B MR
N oo MNOE

+ B 2021 Ofl4HA) | 2022 Gll&kB) | BZ(B-A) + B 2021 Ofl4HA) | 2022 Gil&kB) | BZ(B-A)

g A 356,847 410,405 53,558 g A 356,847 410,405 53,558

Yarte g+ 46,749 54,284 7,535 AR H| 221,926 246,357 24,431

2xgsd - 300 300 THAEZ | 68,284 80,002 11,718

FHasd 100 100 - Abei] 64,337 80,996 16,659

Y7130+ 197,703 240,136 42,433 FSpNE 2,300 3,050 750
old= 85,265 112,535 27,270
Y 27,030 3,050 23,980
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m 20223 & EEHO|LQASX|ME MY SEEM(QH
(CHL M
o M3t =
2021 of[2k(A) 2022 0| £(B) SZ(B-A)
B g s
] Al 356,847 410,405 53,558
01 YaXt2EF 46,749 54,284 7,535
11 a8+ 46,749 54,284 7,535
112 223+ 29,537 34,524 4,987
113 A EH|+=¢ 17,212 19,760 2,548
04 ExZ4¢ - 300 300
41 ExF5¢ - 300 300
AN NZERF - 300 300
05 ZHAF+Y 100 100 -
51 2HETY 100 100 -
511 X E=d3 - - -
512 HIX|E2dE 100 100 -
06 2L=0+Y 197,703 240,136 42,433
61 2L=0+¢ 197,703 240,136 42,433
611 712 =20+ 196,983 230,134 33,151
612 7t g2 - 10,002 10,002
613 7| 2L 3 720 - AT20
09 o|g= 85,265 112,535 27,270
91 o|&= 85,265 112,535 27,270
911 MEzO|&F(Eth 84,297 111,567 27,270
912 HAZO|EdF(=AF) 968 968 -
10 &2 27,030 3,050 123,980
101 &=¢ 27,030 3,050 123,980
1012 7|EO| 2O K=& 30 50 20
1014 7|EtE ==Y 27,000 3,000 24,000




m 20220 EEHO| L ZX|ME ME ZHZAMQ

N

(B H)
ol tat=
At 2021 Of2k(A) | 2022 Of4k(B) 5 Z(B-A)
o g =
] Al 356,847 410,405 53,558
Al YAXEEFAY 66,996 54,284 A12,712
01 A & 4] 12,902 3,180 £9,722
12 YFFT| 3,100 2,700 A400
121 7| #2gH| 2,100 1,700 2400
122 31 29 4 1,000 1,000 -
138 g H 9,802 480 19,322
132 +=&H|¥xxE 7,700 360 27,340
133 3388 240 120 2120
137 7|ER2EH| 1,862 - A1,862
02 R Atz H| 7,814 - AT7,814
21 A|dH| 7,814 - AT7,814
211 Al&H| 2,000 - 2,000
212 RHAkF EH| 3,814 - A3,814
213 A|ATH| | X H]| 2,000 - 2,000
03 At 46,280 51,104 4,824
31 2G| 29,000 28,000 1,000
311 MAH| 24,000 24,000 -
312 =87\ 28| 4,000 3,000 A1,000
313 | &2H| 1,000 1,000 -
33 ZE2IOUALRH| 17,280 23,104 5,824
331 O| @At T 22| At 1,000 1,000 -
332 o= IHE AL H 2,000 2,000 -
333 At2| el 2| THE AL H 9,280 17,104 7,824
334 SEHHALALH| 5,000 3,000 2,000
B1 EXFALY - 300 300
01 AHRH]| - 300 300
11 QIAH| - 300 300
112 4554 - 300 300
C1 ZAFAY 1,068 100 £968
01 AHRH]| 768 100 1668
13 2&H| 768 100 1668
132 +=&H| U =527 500 - A500




352 7|ER EH| 268 100 A168

03 AbH]| 300 - A300
33 ZE2IOUAAH| 300 - A300

334 EHHALAL | 300 - 300

D1 2T AY 247,995 240,136 A7,859
01 At £ H 201,524 210,136 8,612
1me A H 164,000 168,000 4,000

111 = o 121,179 126,420 5,241

112 439 15,211 14,518 1693

115 EXHES 11,366 11,745 379

116 Atgle@gca 16,244 15,317 ~927

12 YEFZTH| 1,200 1,200 -

121 7|22 Y| 1,200 1,200 -

123 3| 29 H _ B )

138 <& o 36,324 40,936 4,612

132 +=8HAxR 3,000 12,000 9,000

133 3383 10,914 7,586 A3,328

135 Xt 2 H] 17,160 15,600 A1,560

137 7|Et2H| 5,250 5,750 500

02 XAtz H| 46,471 30,000 A16,471
21 Al 4 46,471 30,000 A16,471

211 Al&H| 15,000 10,000 A5,000

212 RpibE S| 18,974 10,000 A8974

213 A|EEH| R XH| 12,497 10,000 A2,497

E1 MX=E 40,788 115,585 74,797
01 AHRH]| 7,498 32,641 25,143
11 2G| 7,498 32,641 25,143

132 =8H|Y =& - 8,641 8,641

137 7|Et2 EH| 7,498 24,000 16,502

02 X4tz gy 14,000 50,002 36,002
21 A|dH| 14,000 50,002 36,002

211 Al&H| - 40,002 40,002

213 A EEH| | XH| 14,000 10,000 A4,000

03 AbeiH| 16,990 29,892 12,902
33 T2 IMARH| 16,990 29,892 12,902

331 O| At T Ha| At i - 124 124

333 AbZ| A2l A AL 16,990 29,768 12,778

07 EX|= 2,300 3,050 750
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